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Mr. Schlansky Algebra Il

Quadratics/Complex Numbers Review Sheet
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1. Given i is the imaginary unit, (2 - y7)* in simplest form is Q __':j\ q jt +3 2( n
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3. Solve for x and express your answer in simplest radical form: x* —6x =3
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4. Solve for x and express your answer in simplest a+ i form: 4% +2x =1 ¥
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5 Solve for all values of x: 4x _1_936 +2x=0
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6. Solve for all values of x: x° +4x? +9x =-36

| 42 20
Q_gﬁ” . XH-=0 \43?{‘!:;?

Yo a4 4

2 pab =0
ﬂﬁ\ 5

7. Which equ tion represents a parabola with a focus of (-2,5) and a dlrectnx of y= 97
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8. A parabola has its focus at (1,2) and its directrix is.y = -2. The equation of this parabola could

be
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9. The parabola y = 2 (x+3)* — 6 has a directrix

at y=-5. What is the focus? _ %
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10. The parabola y = %(35—2)2 +3 has a focus of (2,1).

What is the equation of the directrix?

Spiral Review

To determine if x—a is a factor:

Find the remainder! :

To find the remainder, use remainder theorem.
If p(a)=0,itis a factor.

If p(a) =0, itis not a factor.

1y x-11 A=) x+6 Pib)=~20d

" 11. Which binomial is not a factor of the expreision x* —6x% —49x— 667
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12. Which binomial is a factor of the expression x° —7x~62

1) x+3 P(—’B):_-.\g_ ) x-2 pAA=-3

2) x-1 Pu):’ __,\,} @x+2 p[—g.\:o




